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95%7K# O <HA Z5fl =266471 pfE=0 BHE=18>
[R# AR
f12-3 KPOFEOAFLUNOHHRE EHEE]
(585 ~| T8 (208 | BB (2 . | BRE-®E FEORT
g |THON~ | RBCORIREDEL) twmm | LR zom snows sEs
EXL 2,529
21175 SYH(ZHER) 2,046
SEYBR(ZH#HEK) 227
VEYFH (ZHHR) 202
VEYH (ZHHK) 25
95%7K#E x| 95%KHE x [ 95%/KHE x| 95%KHE x| 95%KEE x| 95%KHE x| 95%KHE x
SHAZRIE| <HAZRIE| <HAZFME| <HAZFME| <hAZFfE| <hAZFIE| <h/1=FfE
=0395 pfE[=1.04 pfE=|=4665 pfE|=3897 plE|=158 plE=|=1315 pfE|=1455 pfE
=09413 E| 07916 Ef|=0198 Ef| =02728 H| 06639 HE| =07256 H| =06927 B
HE=3> B =3> E=3>| HAE=3> E=3>| BE=3>| HE=3>
HERER HEE 101 21.2 20.3 62.4 42.6 15.6 6.2
BilE 275 16.4 18.1 54.8 39.7 30.1 3.7
—BE 1,665 11.0 1.4 45.8 32.3 36.5 3.9
95%KH#E Of 95%K#E x| 95%K#E Of 95%K#E O| 95%K#E O| 95%K#E x| 95%Kk# O
SHAZRIE| <HAZRIE| <HAZRME| <HAZFME| <HAZFfE| <hAZFIE| <h/1=FfE
=15588 p|=3194 pfl| =16.055 p| =18.673 p| =10249 p|=1422 pflE| =20976 p
fiE = 0.0004| =02025 | f{i& =0.0003| f{&=0.0001| f{&=00059| =0.4912 H| {E=0 HE
BHHE=-2>| BE-2>|EHE=-2>|BHE=-2> | BHE=2>| HE=2> E=2>
[2%]
13 FRMAINFETICESIENHIRE - HEHRE
£ E -1 oy o
BN | 2TRET| RERER ﬂ%’a;‘égé{% EEE&%, %*Eﬁli)l@ ﬂﬁ’éﬁlﬁ)](ﬁ IJ\-7—$($A
E3LN 2,813 32.3 78 3.2 0.4 0.8 12.8 5.5
21T 5l SEYBR(ZH#HEK) 2,109 295 78 35 0.3 0.7 12.8 53
SYBR(ZH#HE) 229 31.8 5.5 1.7 1.7 1.3 12.0 5.2
VEYH (ZHHK) 336 422 9.7 3.0 0.6 1.3 13.2 7.9
VEYE (ZHHR) 72 53.7 55 1.3 - - 11.0 4.3
95%K# O <hAZ{E =67.481 pfE =00011 EHHEE=36>
EREER Sk 159 46.3 73 3.6 1.2 0.6 175 1.2
bl 329 35.4 95 44 0.7 1.0 155 37
— & 1,768 31.7 75 3.1 0.5 0.8 1.1 6.3
95%KHE O <hAZHfE=81.125 plE=0 BHE=24>
18 FRAChETISESLIELHIRE BERBWEWSE)
b oy o A4 4ot ¢$*’:§(E A4 4ot gk
’J‘—T—%(E} /J\—T—l;’))«(’ﬁ /J\;rg(ﬂ\ l:i_/iﬁﬁj EF%‘};('A EPq-g);(ﬂ\ mEE
= E*’x)
XS 2 84.3 55 33 59.3 17.3 3.9
214 TR AU (ZHER) 2 84.7 5.3 3.6 59.4 182 40
SEYR(EH#HEK) 2 835 52 22 59.9 143 34
VEYFH (ZHHR) 2 83.6 7.9 3.2 58.3 16.2 2.1
VEYH (ZH#HR) 3 88.5 43 - 70.8 135 27
95%K# O <HhAFfE = 67481 pfiE =0.0011 EHEHE =36>
4R R S 6 87.5 1.2 38 72.9 56 19
BilfE 3 84.3 3.7 2.8 65.2 14.0 5.1
—iRE 2 845 6.3 34 58.4 194 3.7
95%K#E O <hAZHfE=81.125 pfE=0 BHE=24>
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FHOETE

ek

E

UhdEREFRAE]
hEEREHETR

REHEEMER

[2%]
14 FHRICRHSEEVLEELANL
BRBE [ s
| eET | BHET | BEERE RETI| FPPE | mms
£k 2,813 0.1 47 8.3 71.6 115 38
21 T3l SEYBR(ZH#HK) 2,109 0.1 3.8 7.7 73.0 1.3 4.1
SEYR(EH#HEK) 229 - 2.1 10.6 724 114 34
VEYHR (ZHK) 336 - 8.0 85 70.1 1.3 2.1
VEYH (ZHR) 72 - 14.0 15.0 54.4 125 42
95%K# O <HhA il = 39.448 pfiE =0.0001 EHEE =12>
4RSI HEB 159 - 14.1 15.9 49.4 19.4 1.2
ALE 329 - 8.2 13.2 59.8 13.1 5.7
— &R 1,768 0.1 2.7 6.3 78.1 9.3 35
95%K#E O <HAZRfE=126318 plE=0 HEME =8>
[EEENREBH]
15 A)BR BIKE
Ei s *RE
En | U0 | meme | TOR | mems
cm (kg)
E3LN 2,741 160.3 7.1 54.7 10.2
21T 5 SEYBR(ZH#HE) 2,074 160.5 7.1 54.7 10.1
SYH (ZHR) 223 159.8 7.0 55.4 105
VEYHR (ZHE) 331 160.1 7.1 54.1 10.8
VEYH (ZHHR) 64 160.3 6.9 55.2 10.6
HEREER Sk 151 159.4 6.5 54.7 1.3
BilE 323 160.8 7.6 56.0 10.9
—fB® 1,733 160.5 7.0 54.7 9.9
[£%]
fE16-1 REFEOEBIKE
T s | FBE | 505 | PFIEB sann | mEs
2K 2813 427 8.0 419 6.3 0.6 05
21175 SYH (ZHR) 2,109 43.9 76 4.4 6.1 0.5 05
SEYBR(EH#HEK) 229 433 102 408 5.7 - -
VEYFH (ZHHR) 336 347 9.1 46.9 75 15 0.3
VEYH (ZH#HK) 72 442 84 37.9 95 - -
95%K#E x <HAZFfE =19.163 pfiE =0.0847 HAE = 12>
HERHER Sk 159 24.4 76 48.1 16.6 33 -
BilfE 329 39.2 101 39.7 9.3 1.1 0.7
—HE 1,768 440 8.3 421 5.1 0.2 0.4
95%K# O <HAZFfl=77561 pfE=0 BHE=8>
[2%]
f16-2 FHOBRIKE
EH s | FBEL | 505 |BFIEE sann | mmm
E3LN 2,813 59.8 8.0 27.1 15 0.1 34
21T 5l SEYBR(ZH#HEK) 2,109 60.8 8.2 255 1.6 0.2 36
SYBR(ZH#HE) 229 62.7 6.8 26.2 0.9 - 34
VEYE (Z1HHR) 336 56.3 5.7 35.2 13 - 15
VEYE (Z1HR) 72 52.7 139 30.7 - - 2.7
95%K#E O <AHAZHFE=2132 pfE=00459 BEEHE=12>
EREER kR 159 4738 8.9 37.1 43 0.7 1.2
[GEuIE] 329 54.6 95 29.2 1.9 - 48
— BB 1,768 61.9 8.3 25.2 1.1 0.2 3.3
95%K#E O <AHAZFfE =28769 pfE =00003 EMHE =8>
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FHOEFTEERETMEEN R
UhdE ik £ ZHE]
FELEREER

[£%]
17 BE1FERBICFHEERBETRZIEAA o ER

E# ot otz O

E3LS 2,813 13.7 82.6 3.7

21175 SEYR(ZH#HEK)

A=Y (Z#K)
VEYIR(ZHK)
VEYHR (ZHK)

95%/K#E x <HAZF{E =3.007 pfE =03905 HHE=3>
HERERER HEEE 159 21.5 76.2 24
RAilE 329 16.8 78.4 438
—B® 1,768 13.1 83.3 36
95%K#E O <HAHfE = 10052 pfE =0.0066 EHE =2>
[B%o1:]
E17-1 FHEERBETRZSEUA 2T LEH
LI | SRR ok ans| maumme| steoan | BTEDT | asomm
EH T ey 2L | mGERRAY | TIT<EFR %c":tut‘#u KENE [ Zoft A
i S Bigh Tz BRI £ Motz W Woff=h
XS 383 - 0.9 20.8 0.3 21.1 50.9 0.7 46 0.8

RT3 A=Y (ZHK)

A=YE (Z#K)

VEYR (ZHK)
VEYER(ZHK)

95%7K#E x <HhA il = 20507 pfiE = 04894 EHEAME =21>
HEREER = 34 - 3.2 28.6 - 33.3 232 5.7 6.1 -
BilE 55 - 2.0 137 - 25.6 49.6 1.6 5.6 20
—BE 232 - - 21.2 05 18.9 55.5 - 35 0.4
95%K#E O <hAZFfE = 29439 pfiE =00091 HAE =14>
[£%]
fE18A EHMFIHERE
| me | IR phenn| mEs
E3LN 2,813 92.1 1.8 2.3 38
21T 5 SYH(ZHR) 2,109 92.1 16 23 40
SYH(ZHR) 229 93.9 1.3 0.9 38
VEYE (Z1HHR) 336 90.2 32 40 26
VEYH (ZHHR) 72 92.0 2.5 28 2.7
95%7K#E X <HAZHfE=11.028 pfl =00875 BHHE=6>
4 EREREE R REEFE 159 88.2 5.1 4.1 26
bl 329 88.2 49 2.1 48
— R 1,768 93.5 0.9 1.8 38
95%7K#E O <hAZFME =39.064 plE=0 BMEE=4>
[£%]
188 EEHEE (1Y IILIUY)XKBEIERM
my | oo | IO phenn| m@E
XS 2813 48.2 46.5 1.0 43
AT 3l AYER(ZHE) 2,109 495 45.4 0.7 44
SEYR(EH#HEK) 229 497 46.0 05 39
VEYFH (ZHHR) 336 37.8 56.3 25 35
VEYH (ZHR) 72 471 48.7 15 27
95%7K#E O <hA 5l = 25204 pfl =0.0003 BEHE=6>
HSEREER HER= 159 347 60.8 1.9 26
BilfE 329 38.0 52.9 2.2 6.9
— iR 1,768 50.3 454 05 38
95%7K# O <HAZHf=36743 pfE=0 BHE=4>
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FHOEFEEREREEMR

Uhdh et £ ZFHRE]
FELEREER
[£#%]
f18C EEER (H15<nH)
g | more | FTE phenn | mEs
EXS 2,813 55.8 34.6 4.7 4.9
21175 SEYR(ZH#HEK) 2,109 56.5 34.9 36 5.0
AEYB (ZHK) 229 55.6 34.8 48 4.7
VEYH (ZHR) 336 52.4 34.1 9.7 38
VEYH (ZHHR) 72 53.9 36.5 7.0 2.7
95%K#E O <HAHfE =26.372 pfE =0.0002 BHE=6>
HERERER HEERE 159 38.8 50.0 76 36
BiLRE 329 457 40.7 6.3 73
—fgfE 1,768 58.1 33.6 38 45
95%K#E O <HAZFfE=37306 pfE=-0 HHE=4>
[£%]
f918D {EEHERE (KIF5E3)
g | more | FTEM phenn | mEs
EX 2,813 49.6 40.2 48 54
21175 SEYBR(ZH#HR) 2,109 495 40.9 4.2 55
AU (ZHR) 229 474 435 40 5.1
VEYFH (ZHHR) 336 49.2 37.9 8.7 4.1
VEYH (ZHHK) 72 57.6 35.4 4.2 2.7
95%K#E O <HAHfE = 15003 pfE =0.0202 BHEE =6>
HEREER HEEE 159 36.9 50.9 8.1 4.1
D@ 329 432 430 5.7 8.2
— 1,768 51.4 40.0 3.8 4.7
95%K#E O <HAHfE =20.732 pfE =0.0004 EHEE=4>
[ FIHEEEZ(THA 1]
fE18-1 EHFHEEEZIEVIEAHoLER [(BHREE]
ammom| FemAn| EREEE o cun | greac
Bl | 2, IR | TITCEER | ZitE e
EH BEBoTW| IS EDE - a1
Fot-t ahoft= Tl Wah otz | TRLNEH
=1= & by yf S| o | ELe
24K

21T 5l SEYBR(ZH#HEK)
SYH(ZHR)
VEYH (ZHHR)
VEYE (ZHHR)
95%IKH#E x <HA 5l = 31596 pflE =0.1373 BEEME = 24>
4 EREREE R 5

95%K#E x <HAZHfE =11.133 pflE =0.8012 BHEME =16>

f18-1 EHFMIEREZHAVEAHo-EE [EHREE]ES)
wopoc | BTAEH

= 1=, FHH
Fanom| Z0aeT HEOEE ton | sms
S| BTEEL | h s s T
BRI CepiTan| P
== Motz

E3LY 10.0
2175l SEYBR(ZH#HE)
AU (ZHR)
VEYH (ZHHR)
VEYH (ZHHR)
95%IKH#E x <HAZHfE = 31596 pflE =0.1373 BHEME = 24>
EREER

95%IK#E x <HAZHfE =11.133 pfl =0.8012 HEE =16>
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FHOEFTERREREETE
[hrEREERE]
FELEREER
[2%]
B19A #iZBHICECELA
E#H Lo T | EFEE | DLET [ 20 A
2k 2,813 24 4.6 20.3 21.1 50.4 12
21175 SEYR(ZH#HEK) 2,109 18 4.1 20.2 21.1 51.7 1.0
SEYBR(ZH#K) 229 3.6 2.7 21.1 23.7 485 0.4
VEYH (ZHR) 336 33 74 21.3 20.5 46.0 15
VEYR (ZHE) 72 9.6 6.8 17.0 19.4 45.8 15
95%K#E O <h4ZF{E =36.088 pfE =0.0003 HHEE=12>
HERERER ESEEE 159 9.6 75 29.3 23.7 28.1 1.8
EaE 329 34 5.6 24.1 17.9 49.0 -
— B 1,768 1.3 3.9 19.6 21.7 52.8 0.7
95%K# O <HAZHft=81.384 pfE=0 BHEE =8>
[2%]
198 #EMIZERECELEA
EH Lo T | EFEE | DLET | 20 A
2K 2,813 0.8 20 8.0 136 74.1 14
21175 SEYBR(ZH#HR) 2,109 0.5 1.7 75 135 75.5 1.3
SEYBR(ZH#HEK) 229 0.5 0.9 8.7 15.0 745 0.4
VEYFH (ZHHR) 336 1.6 3.6 11.4 1.6 703 1.5
VEYR () 72 5.7 1.2 5.5 20.8 65.3 15
95%KH#E O <hAZHfE =45209 pfE=0 BHE=12>
HERHEER HEERB 159 39 8.1 19.6 24.7 426 1.1
BulE 329 0.9 28 12.3 18.3 65.3 0.3
—iB® 1,768 0.4 0.9 6.4 12.0 79.3 1.0
95%K#E O <hAZHfE=161.905 pfE=0 BHHE =8>
[£%]
fl19C Thth BELEIGRELELED
E# o3 fzVTLY | EFEE | DLET | 2<B0n EEE
E3LN 2,813 0.8 24 12.2 23.8 59.2 15
21T 5l SEYBR(ZH#HEK) 2,109 0.5 23 12.0 234 60.5 13
SYBR(ZH#HE) 229 - 1.3 1.8 28.0 58.0 08
VEYH (ZHHR) 336 1.8 29 15.1 234 55.0 18
VEYH (ZHHR) 72 45 2.9 13.8 253 52.0 1.5
95%7K#E O <HhAZFfE =29.951 pfl =0.0028 EHEHME=12>
SEREER Sk 159 5.1 6.3 21.2 23.3 41.7 24
bl 329 1.0 27 16.5 26.9 52.1 0.9
— BB 1,768 0.2 1.9 1.3 24.9 60.9 08
95%K#E O <hAZFlE=98.165 plE=0 BHHE=8>
[£%]
19D KA HLARAT, AR STHLRIBEAAENKSICELELEA
E (A\L 2T | EFEE | DLEHT | &80 EEE
XS 2,813 1.2 29 15.1 25.0 545 13
214 TR SYBR(ZH#HR) 2,109 1.0 24 146 24.8 56.0 1.1
SEYR(EH#HEK) 229 - 14 16.8 274 540 0.4
VEYFH (ZHHR) 336 1.9 6.8 15.0 24.2 50.5 1.5
VEYH (ZH#HR) 72 45 40 21.3 30.9 37.9 15
95%K#E O <hAZHfE=41633 plE=0 BHE=12>
HERHER S 159 40 9.3 24.6 317 292 1.2
BB 329 3.1 3.1 20.6 28.7 44.3 0.3
—ig@ 1,768 0.4 22 137 238 59.0 0.9
95%KH#E O <hAZHfE=113.99 pfE=0 BHHE =8>
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FHOEFREREREEMR

[hehEREFRE]
FELEREER
[2%]
F19E g 5D FIMYLEERLCELEA
EH Lo LTy | kEEE DLET | 20 A
2k 2,813 1.6 4.1 15.5 27.2 50.4 1.2
21175 SEYR(ZH#HEK) 2,109 1.4 38 15.2 274 51.3 1.0
SEYBR(ZH#EK) 229 0.5 2.9 14.6 35.7 46.0 0.4
VEYH (Z 1) 336 1.9 6.8 16.5 23.9 49.2 18
VEYR (ZHE) 72 45 3.8 16.8 254 48.1 15
P5%K#E O <Hh4Z5fE =21.844 pflE =00393 BHHE=12>
HERERER HEERE 159 46 13.1 20.5 26.0 33.9 1.8
BAilE 329 15 6.2 19.9 232 48.8 0.3
— B 1,768 1.0 3.1 14.4 29.0 51.8 0.7
95%K#E O <hAZHfE=7333 pfE=0 BEHE=8>
[2%]
E19F B FEENLZVDAREERCELL,
B o4 LTy | kEEE DLET | &<BWD A
2K 2,813 1.2 2.3 8.0 15.0 72.2 13
21175 SEYBR(ZH#HR) 2,109 1.0 20 76 14.3 740 11
SEYBR(ZH#HEK) 229 0.8 05 6.9 19.1 724 0.4
VEYFH (ZHHR) 336 1.2 45 10.6 15.7 66.5 1.5
VEYR () 72 5.7 5.3 10.2 203 57.1 15
95%7k#E O <HhAZFfE =42175 pfE=0 BHEAE=12>
HEREER HEEE 159 6.3 7.8 18.5 19.8 45.9 1.8
BulE 329 15 4.3 11.6 15.6 66.6 0.3
—iB® 1,768 0.4 14 6.7 15.0 75.8 0.7
95%7k# O <HAZRfE = 140792 pfE =0 BHEHE =8>
[£%]
fE20A COHFSAOBEH-FRME: AL
N w | 15~25 | 25~8%F | 35~4% | 4H5~5% N
E# ERGL | 1AAXRE Mk gt A% Mk SHEALLE| #EE
EXL 2,813 15.1 19.0 23.9 4.9 1.4 1.1 17.6 17.1
21T 5l SEYBR(ZH#HEK) 2,109 145 18.2 24.4 48 15 1.1 187 16.7
SYBR(ZH#HE) 229 15.1 18.0 26.2 7.0 0.8 2.2 15.3 154
VEYH (ZHHR) 336 16.9 232 20.1 42 12 0.6 15.2 18.6
VEYH (ZHHR) 72 25.1 232 20.0 15 - - 135 16.7
95%7K#E X <HAFfE =27.392 pflE =00719 EHEE=18>
SEREER HEEE 159 16.7 222 31.3 8.6 0.6 - 5.7 14.9
bl 329 14.1 234 24.9 4.9 25 0.7 14.7 14.8
— R 1,768 16.5 19.7 24.6 4.9 1.3 1.3 20.4 1.2
95%K#E O <HhAZF(E =36.88 pfl=00002 BEHE=12>
[£%]
f20B COBFSANBELE, ERNTHAIDEER: A
- w | 1A~2F | 25~38%F | 3/5~4% | 4H5~55A N
E BRALGL | 1AAXRE Mk g Mk mxks | SAAME REE
2K

tHHE21 TR AStYE (S

AEYE (Z#K)

VEYRR (ZHEK)
VEYER (ZH#K)

95%K#E x <N THfE =16093 pfiE = 05861 EEHE=18>

4R R R 159 443 70 135 135 35 18 3.2 13.2
bl ] 329 32,6 85 9.9 145 11.8 33 45 14.9
—ig@ 1,768 26.7 8.3 12.1 17.8 142 5.1 6.3 95

95%K#E O <HAZFflE =44854 pfE=0 BEHE=12>
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FHOEFEEREREEMR
UhehaREEHRE]
hEEREER

[£#%]
ff20C COHEFESADBENERR—YHSTLELSN) : AE

15~2%5 | 2B5~3% | 35~4%5 | 415~57

mkAE | AxE | AxE | BRa |O0OAL| REE

EH BALGL | 1AMAXRE

EXL 2,813 51.5 14.5 9.0 2.4 0.8 0.3 0.5 21.0

21175 SEYR(ZH#HEK)
AU (ZHR)

VEYH (ZHR)

VEYH (ZHHR)

95%K#E x <HAZFfE=15313 pfE = 06404 HAE =18>

SRR R R 159 65.6 9.6 76 0.6 - - - 16.7
BiLRE 329 55.7 14.7 6.4 09 0.7 - 03 21.3
—RE 1,768 53.6 15.6 10.1 3.1 0.7 0.4 0.5 159

95%K#E O <H/ZFfE =236 pfE =0023 HARE=12>

[£%]
120D COEFSANAR—YI5T -85 A%

15~2%5 | 25~3% | 835~4%5 | 415~57

BH | RAGL IORAE| mxm | maw | mxE | Axs

S5HAUL| EEE

2

21175 SYH (ZHR)
Y (S #HK)
VEYFH (ZHHR)
VEYH (ZHHK)
95%K#E x <HAZF{E=10349 pfiE =09199 HAE =18>

BRI REERE
ELE

95%KHE x <HAZF{E=1373 pfE=03183 BHEE=12>

[£%]
H20E COBEFSANRER. SBR. B O2RUEBEL):AH

15~2%5 | 25~3% | 835~4%5 | 45~57

Ax# | mEA | Axm | mAxa |O0NAL| REE

EH BALL | 1BAXE

37

21T 5l SEYBR(ZH#HEK)
SYH(ZHR)
VEYH (ZHHR)
VEYE (ZHHR)
95%IK#E x <HA 5l = 25577 pflE =0.1098 HEHEME = 18>

SEREHAER

95%K#E x <AHAZFfE=1273 pfli=0389 EMHAE=12>

[£#]
FI20F COBEFSADIR-#: A%

s | mAGL | 1ERsE | (RZEP | 2RO | SPCAR | AR2S7 | shmut | mEE

XS 2,813 3.7 60.5 15.7 20 0.6 - 0.1 175
AT 3l SYBR(ZH#HR) 2,109 3.6 62.0 14.7 1.9 0.4 - 0.2 17.2
SEYR(EH#HEK) 229 24 62.3 16.2 08 - - - 18.2
VEYFH (ZHHR) 336 5.4 54.4 19.5 3.0 1.2 - - 16.5
VEYH (ZH#HR) 72 29 56.6 222 27 28 - - 12.8
95%7k#E O <hAZ%(E =29.789 pfE =0.0395 EHHEE =18>
4R R k]
BB
— &R

95%K#E X <HATHfE =15706 pfiE = 02051 EEHE=12>
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FHOEFEEREREEMR
UhehaREEHRE]
hEEREER

[£#%]
120G COHFSADEIEL: B

| AL | mmEss | (RZEP | PRZSP | SRCAR | AR 20 | shmut | mEE

EXL 2,813 16.7 68.8 1.4 0.0 0.0 13.0

21175 SEYR(ZH#HEK)
AU (ZHR)

VEYH (ZHR)

VEYH (ZHHR)

95%K#E x <HAZFfE =23584 pfiE =0.1691 HEAE =18>

A EREER HEE 159 28.2 58.5 25 - - - - 10.8
BAilE 329 17.9 68.3 1.5 - - - - 12.3
—fEB 1,768 16.3 742 1.3 0.1 - - - 8.2

95%K#E x <HAZFflE=19.762 pflE =0.0717 HEAE =12>

[£%]
fE20H COEFIADEH - AT—rI+>ORE: A%

| mAnL | sk | T RZEP | PEZSP | SRCAR (AR | enmut | mEE

EX 2,813 22.5 59.0 4.2 0.1 0.0 - 0.1 14.1

21175 SYH (ZHR)
SEYBR(ZH#HEK)

VEYFH (ZHHR)

VEYH (ZHHK)

95%7K#E x <HAZHflE =17.896 pfl = 04625 B =18>

ERHREE R REEFE 159 28.6 544 8.1 - - - - 89
DR 329 224 59.2 38 03 03 - 03 137
—h&fE 1,768 225 635 39 0.1 - - 02 98

95%K#E x <hAZHfE=18623 pfE =0098 BHEHEE=12>

€39
21 RFBHEORBOEE
Ey | BTEOT| BT phsnn | mEE

24K 2,813 13.8 80.1 2.0 4.1
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